Practice 6 Answer Key

When the twins or there sister tries to pester the other children on the playground, teachers must intervene immediately.  There is way too many first and second grade children for Mrs. Smith and I to watch over, so the principal has to join us, because those three kids are too much of a handful.  Every child should learn to mind their manners.

T   F 
1.  There are five clauses.  6

T   F 
2.  The verb in the first clause should be try, not tries. 

T   F 
3.  The word there in the first clause should be their because it is possessive.

T   F 
4.  The predicate for the second clause is must intervene immediately.

T   F 
5.  The verb in the second independent clause needs to be are not is.  

T   F 
6.  There are three dependent clauses.

T   F 
7.  In the second independent clause, the word I should be me.  

T   F 
8.  The comma between us and because should be removed.  

T   F 
9.  There is an agreement in number error in the 5th clause.  


No – It’s in the 6th clause

T   F 
10. There are four infinitives.  

